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If 83sin6 + 5 cos 0 =5, then what is the value PYQ- 24—
of 5sin0—-3cos O ?
@ -3 Isin (09) + Ses(07) = 8()+5(r) = 055
(b) -2

__ .
© 5 F 6=0
@ 8 5o [0.) ~ 30 ('o‘)

- p-301) =3

\AANr
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If 3s5in 06+ 5 cos 8=25, then what is the value

PYQ-24-1

of 5sin®—-3cos B ?

(a) -3
(b) -2
() o
(d 8

Ans: (a)
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What 1s  the

sin2 A+bH5sinA+1
sin A

(a)
(b)
(c)
(d)

¢ =1 O oo

(

minimum value of

for 0 <A< =7

/\

Son+6+ [
SInA

Sinh

d+5 =@

5;0A +_L._.-) + 5

PYQ-24-1
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What is the minimum value of PYQ-24-1

. 92 i
sin“ A+bHsinA+1 for 0<A< ™9
sin A 2

(a)
(b)
(c)
(d)

o =1 O W

Ans: (c)
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If tan (3A) = cot (A — 22°), where 3A is an
acute angle, then what is the value of A ?
(a) 25°

PYQ-24-1

B oo fom (3A) 101). (?o°-(ﬂ'22'))

(c) 28°
{d) 30° 3A - 70‘—' A _’_ 4'20
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If tan (3A) = cot (A — 22°), where 3A is an
acute angle, then what is the value of A ?
(a) 25°

(b) 27°
(c) 28°
(d) 30°

Ans: (c)

PYQ-24-1
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sin®—cosBb+1

If —
sinB+cosB6-1

=psecH+qtan6,

where 0 <0 < g , then what is- p + q equal

to ? -
(a)
(b)
(c)
d

B b = O

def o=

45°

(HS = Sings’ — wshs"]

Iinks?' + tosyys — |

R FY (T ¥

Va2 -1

Ve 11

2 -

PYQ-24-1
L - L 3y
e V2
[ 1 -
U (
Vi Ve
=/
Ptq =

RHs = pleys’ g Hmys plr +4
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sin®—cosBb+1

If

sinB+cosB6-1

where 0<0 < g , then what is- p + q equal

to ?
(a)
(b)
(c)
d

B b = O

Ans: (c)

-

=psecH+qtan6,

PYQ-24-1
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The angles of elevation of the top of a tower
from two points A and B at a distance of x m PYQ-24-1
and (x + 5) m from the base of the tower of
height 6 m and in the same straight line with
it are complementary. What is the value of x ? ( I) X ( 2)
(a) 4m eh /
b AC
) 5m / /b b
() 6m . - 6 u)fo{.'fm)ﬂ HarD (
?‘an[?o-o()“ - X/ LAt
(d 9m | y 2
wif =6 — (1) | = 36
_— 1
()
6 Beb,
g ) W(1+5) = 34
Bnd = b — 4
L+5 (a) 4(4#5) = Yx97 —
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o 90°- ,
Q@
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The angles of elevation of the top of a tower
from two points A and B at a distance of x m
and (x + 5) m from the base of the tower of
height 6 m and in the same straight line with
it are complementary. What is the value of x ?

(a) 4m

(b) 5m
() 6m
(d 9m

Ans: (a)

PYQ-24-1
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Consider the following statements :

1. In a triangle ABC, if
| 3v3

sin A + sin B +'si-11 .C =5 then the
triangle can be equilateral.

2.  In atriangle ABC, if
cos A +cos B + cos C = %, then the

triangle can be equilateral.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(c) Both1land?2
(d) Neither 1 nor 2

PYQ-24-1

b
3 2
> 3
3
Ly Ly
37373
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Consider the following statements :

1. In a triangle ABC, if
| 3v3

sin A + sin B +'si-11 C.= 5 then the

triangle can be equilateral.
2. In atriangle ABC, if
cos A + cos B + cos C = %, then the

triangle can be equilateral.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(c) Both1land?2
(d) Neither 1 nor 2

Ans: (c)

PYQ-24-1
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(@]

QIf 6 + ¢ = %, what is the value of (/3 +tan®)

(\/§ +tan ¢) ?
(@ 1 (b) -1 (c) 4 d -4

(Vs + '/ano)(t/}f fa”f} Y /Efanjf-ﬁfanﬂ + f“”“‘f“",d

¢ f F{ :/I: V3 fane + \/ifa'nﬁ = (- ’ﬁanafanﬁ
’/m(“ﬁ) = fm T Vs fanp Tﬁfnn?ff fawfanff =/

6 0

fang + fnnyf i 34/
[ — fa'na 'ftmﬂ \/3

\
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QIf 6 + ¢ = %, what is the value of (/3 +tan®)

(\6 +tan ¢) ?
(@ 1 (b) -1 (c) 4 d -4

Ans: (c)
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(@]

Q) If sec © + tan O = x, then sec =27

2 2 2 2
X +1 X +1 x—1 xT -1

(b) (c) (d)

X 2x 2x X

(a) Sup + '/‘an@ =9 — 0)

(S'ew + 'fana) X (Sece ~ ‘fan&l -2

Sec® — fong

[+ tante = Sec’p
ety — fon’0 -«

fcd - fan b

[ x> S’eca-fant‘)‘:-,’z"‘(’?

-—

Seco - fon g
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fecd) + fong =T
Seco — tang = L
X
; I
o fecd = 1+.£

fecd = L4
J X

\/_,M—’
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Q) If sec © + tan O = x, then sec =27

9) 2
T +1 X +1

(b)

X 2x

(a) (©)

Ans: (b)

2
X

-1
d
e @

X

2

- -1

X
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Q)Ifcos? 6 —sin? 6 = g , then the value of 2 W 1S

W |

@ O b) 1 (c) (d)

2

)' - (o) = Z

(os"s) (sin*) :

(oos’ws:%le)(m‘a —sfnle) . 4

~— S

s’ - ¢inle = 4 o
K\a/

2008 - = 3

—

3
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Q)Ifcos? 6 —sin? 6 = g . then the value of 2 cos?6 — 1 1s

(@ 0 (b) 1 (©) (d)

W |

2

Ans: (c)
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Q) What 1s the value of

(a)
(b)
(c)
(d)

tos* (90'-15°) + 099’(?0°-20°) b (9035 o s (1 ?5")

: 2 = | " 2 g = &0
sin®? 15° + sin® 20° + sin® 25° + ... + sin® 75°?

tan® 15° + tan‘2 207 '(an2 25° .+ tan® 7%
c:os2 15+ cos 20° + cos 2§° . cos Ty
cot® 15° — cot® 20° + cot® 25° — ... + cot® 75°
sec” 15° + sec” 20° + sec” 25° + ... + sec” 75°

it 1+ ot # ostest F o )T

A A A

EXAMS
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EXAMS

Q) What 1s the value of
sin’? 15° + sin® 20° + sin” 25° + ... + sin® 75°?

(a) tan” 15° + tan” 20° + tan® 25° + ... + tan” 75°
(b) cos® 15° + cos® 20° + cos® 25° + ... + cos® 75°
(¢) cot® 15° — cot? 20° + cot® 25° — ... + cot® 75°
(d) sec” 15° + sec” 20° + sec” 25° + ... + sec” 75°

Ans: (b)
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1

7 -
osec” 51°

Q)Ifcosec 39°=x, the value of +sin? 39°+tan251°
1 .
S

.9 P 1
sin~ 51°%sec” 39°

(sf»’;r’ a @325’/'}7‘- (sec‘b“/"- / ) -
Sin*51° togects51°

|+ Gsect(300) —f - I

~

(
[+ X =) =/

L
=1y
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1 .
Q)IfsecO = x+ ™ (0°< 6 <90°), then sec 6+ tan 0 1s equal to
X

X 1
(a) 2 b) X (©) x (d) o
Socd = X + [
e 3y = o+ 1 4 L-
1 Secp = 27 3 i It
Seco = A1+
_ 1 I
hr [+ fon'g = * 7”}-("‘ l6 1 *

SQCQB - /qu‘f'/ T 31”;
lor* bt &
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L
n - 1_..__L_
Ton2p ( “)
fong = 1 - L
q1

Secop + Tono :(

xt L
1

) (”
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1
Q)IfsecO= x+ ™ (0°< 6 <90°), then sec 6+ tan 0 1s equal to

X 1
@5 ®x  ©Ox @ 5

Ans: (b)
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Q) If x =a secH cos ¢, y=bsecO sin ¢, z= c tan 6, then, the value

¥ 2 2
gk —f——i——— I8

a- o &
(@ 1 b) 4 () 9 d 0

a“!ecﬂa ('932% 4 Llfwle “(';nl¢ _ ;(',2'1(0”"0 3

y

at ) C
S'ec'LG(‘ w0ty + an"ﬂ) — far’p

tec’o — fanlp =

| W
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(@]

Q) Ifx =a secB cos ¢, y=bsecO sin ¢, z= c tan 6, then, the value

of x7 +y,, —:2 1S
a~ b° ¢
(@) 1 (b) 4 () 9 d 0

Ans: (a)
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(@]

Q)If 2y cosO = x sinO and 2x secO — y cosecO = 3, then the
relation between x and y 1s

(a) 2.1’2+yz=2 (b) x2+4y2:4

© x*+4°=1 (d) 4x*+y*=4
—a?d— = _Z___. c‘zx Gecd — :?LZ.“QC@ > 9
Sr'nﬂ S 0

drteco — 2fetd = 6
OPJ 0fec® = % Sec®

It Sece = 6
dCMCCO ;\EL (% Sec&) feco - "%i, =y 080 = _}. — [I)
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dcesece = ;.?L(x s'ece)

osecd = L[y A6
(7 o 3L

dmsew =/

Mo = d — CQ')
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Q)If 2y cosb = x sinb and 2x secO — y cosecO = 3, then the
relation between x and y 1s

(a) 2x*+y*=2 b) x*+4y2=4
() x*+4y*=1 (d) 4x*+y*=4

Ans: (b)
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Q) If sin“c. = cos3c., then the value of (cot®c — cot?ct) 1s

@ 1 (b)y 0 ) -1 (d) 2
of*d « wsh = | tof ¥ (C,,f“f - I)
uf™§ - Secd Seeof ( Sec*d - )
fanls = L. < 94 et & (fam%()
SecH

fe(}f‘ (093'() = /

A



CDS 1 2025 LIVE CLASS - REVISION

Q) If sin®o. = cos’a, then the value of (cot®ol — cot?ar) is

(@) 1 (b) O () —1 (d) 2

Ans: (a)
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Q)If p =cot 8 + tan 6 and g = sec 6 — cos O, then

2 2 S 2 .
(p~ @)3._(([ p)3 1s equal to

@ O b) 1
(c) 2 (d) 3
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Q)If p =cot 8 + tan 6 and g = sec 6 — cos O, then

5 2 2.
(p”p)3 (¢~ p)3 1s equalto

@ O b) 1
(c) 2 (d) 3

Ans: (b)
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Q)If

COS X

COS X

1 +cosecx

cosec x —1

=2, then which one of the

following 1s one of the values of x?

(a)

(©)

T

—

2

n
4

n
®

TC
@
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COS X COS X

Q)If + =2, then which one of the
l1+cosecx cosecx—1

following 1s one of the values of x?

i n
@ > ®
L .
© 5 @

Ans: (c)
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Q)If 1 + tan 6 =./2 , then what is the value of cot 6 — 1?

1
(a) E (b) \E

1
© 2 @ 5
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Q)If 1 + tan 6 =./2 , then what is the value of cot 6 — 1?

(a) E (b) \E

1
© 2 @ 5

Ans: (b)
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Q) Consider the following statements :
1. s1n66° 1sless than cos66°
2. sin26° 1s less than cos26°
Which of the above statements 1s/are correct ?

(@) 1only (b) 2 only
(¢) Bothland?2 (d) Neitther 1 nor 2
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Q) Consider the following statements :
1. s1n66° 1sless than cos66°
2. sin26° 1s less than cos26°
Which of the above statements 1s/are correct ?

(@) 1only (b) 2 only
(¢) Bothland?2 (d) Neitther 1 nor 2

Ans: (b)
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Q)If sin®+cosO=a and

2a

@ b=—

a” —1

©) ab=5b>—-1

simn O+ cosH

sinBcosb

=b, then
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_ sim b+ cosO
Q)If sin®+cosB=a and — =b, then
simoBcosH
, 2a 2b
= a =
@ b= ®) 7=
©) ab=5b>—-1 (d) a+b=

Ans: (a)
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. 1 1
Q) The value of (sin” 7 5 °4cos? 7 5 °) —(sin2 30° + cos230°)

ol

@ 3
©) 2

i’

+ (sin? 7° + sin® 83°) is equal to

31
® 33
@ 1
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.21 1
Q) The value of (sin® 7 5 °4cos” 7 5 °) —(sin2 30° + cos230°)

et

@ 3
© 2

Ans: (d)

+ (sin? 7° + sin® 83°) is equal to

31
® 33
@ 1
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Q)If x=psecb and y=gtan6 then
@ x*-y*=p’q? ®) x*q*—y*p* =pq

I
(© x*q*—y*p*= 22 @ x*q* - y*p* = p*q”
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Q)If x=psecb and y=gtan6 then
@ x*-)*=p’q’ b x°¢>-y*p* =pg

1
(© x*q*—y*p*= 22 @ x2q® — y°p* = p*q’

Ans: (d)
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Q) If'sin o+ cos B =2 (0°< B < a0 < 90°), then sin (
. a
(@) sin— (b) cos =
2 3
L a
() sin — (d) cos —

3 3

2a+
3

E
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20+
Q) Ifsina+cos B =2 (0°<B <a<90°), then sin ( 2 ﬂ) =
4 o
2 3
% 20
(©) sm = (d) cos —

Ans: (b)
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Q) If sec x cosec x = 2, then what 1s tan™ x + cot™ x equal to?

@ 2 (b) 2n*1
(c) 2n (d) 2n-1
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Q) If sec x cosec x = 2, then what 1s tan™ x + cot™ x equal to?

(@ 2 (b) 2»*!
(© 2n (d) 2n-!

Ans: (a)



CDS 1 2025 LIVE CLASS - REVISION

Q) If 7 sin?x + 3 cos® x =4, 0 < x< 90°, then what is the value of
tan x?

@ 2 b) 1

1
© L @ 5
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Q) If 7 sin?x + 3 cos® x =4, 0 < x< 90°, then what is the value of
tan x?

@ 2 b) 1
V3 1
(c) - (d) NG

Ans: (d)
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Q) Iftan® +cotd =

equal to
(@ 1
J3+1

2

(©)

J3

,Where 0<9<g,then sinB + cosO 1s

V3-1
® 5

@ 2
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Q) Iftan® +cotd =

equal to
(a) 1
© \/§2+ 1

Ans: (c)

J3

,Where 0<9<g,then sinB + cosO 1s

V3-1
® 5

@ 2
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|
Q)Iftan’x + —
fan™ x
value of x ?
(a) 15°

(c) 45°

=2 and 0° <x<90°, then what 1s the

(b) 30°
(d) o0°
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1
2
Q) If tan“x + 2
value of x ?
(a) 15°
(c) 45°

Ans: (c)

=2 and 0° <x<90°, then what 1s the

(b) 30°
(d) o0°
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l—sinx 1—sinx COS X
QIf p= —.q = =
l+sin x COS X l+sin x
then which of the following 1s/are correct ?
. p=g=r
2 p2 = gr
Select the correct answer using the code given below.
(@) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
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] —sin x ] —sin x COS X
QIf p= q= r=

1+sinx’ cosx  l+sinx
then which of the following 1s/are correct ?
. p=g=r
2 p2 = gr
Select the correct answer using the code given below.
(@) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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3 3

Q) If sin x + cos x = p and sin”x + cos
p3 — 3p equal to ?
@ 0 (b) —2q

() 2q (d) 4q

x = ¢, then what 1s
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3 3

Q) If sin x + cos x = p and sin”x + cos
p3 — 3p equal to ?
@ 0 (b) —2¢

() 2q (d) 4q

x = ¢q, then what 1s

Ans: (b)
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